
 

 

Answer on Question #60794 – Math – Analytic Geometry 

Question 

Triangle ABC has vertices A(-1, 1, 3), B(-1, 3, 5), and C(-3, 3, 3). What kind of triangle is ΔABC? Justify 

your answer.  

Solution 

Compare the length of the sides of a triangle, which can be found by means of the formula of 

distance between two points (𝑥1, 𝑦1, 𝑧1), (𝑥2, 𝑦2, 𝑧2): 

𝑑 = √(𝑥2 − 𝑥1)2 + (𝑦2 − 𝑦1)2 + (𝑧2 − 𝑧1)2 

So 

|𝐴𝐵| = √(−1 − (−1))2 + (3 − 1)2 + (5 − 3)2 = √0 + 22 + 22 = √8, 

|𝐴𝐶| = √(−1 − (−3))2 + (1 − 3)2 + (3 − 3)2 = √22 + 22 + 0 = √8, 

|𝐵𝐶| = √(−3 − (−1))2 + (3 − 3)2 + (3 − 5)2 = √22 + 0 + 22 = √8. 

Because |AB|=|BC|=|AC|, the triangle ΔABC is equilateral. 

Answer: the triangle ΔABC is equilateral. 
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